1R 2R

mK BEF

bye

Wik EiCT

Saq+R

SF

BE <28

FyINT-C

X=E BF

RSC

bye

1L L

234 B

BreakOut

63

TFAVUT LA

ETI=ES

Saq+R

o|lo|lN|loo|a|b|l®|N]|—=

hE X

HXETC

bye

bye

62

EHa ¥H

K5ST

HH EF

FyINT-C

AKX RE

HXETC

bye

I:IJLJLJng.I

(-

w.0

62

=R SbH

T3

Xi&E BF

D.TsLine

bye

H Y

myself

BH BT

NLRE—

—RHA X5hH

ONC

=H EF

K5ST

60

" fiF

ERhE

NotPlayed

ht+E RRF

Saf+R

bye

bye

w.0

SR AT

RLTS

BmE AXF

S-MTC

$H X=F

KSCiHf

bye

60

63

75

BE 57

ZIR127

fRE FR

TBJ

bye

RE FEF

HXETC

62

HE EBF

HY

HIS? #6F

Saq+R

bye

HERRERRRERRRERNRERERE N

Eil BRF

JIRREL

61

TS

RSC

(=

RS

HY

bye

bye

63

KT HF

FAOVTRE—

af XK

K5ST

ELS

RLTS

e

bye

64

—
43RET

fRE Sx

F=A¥R #Hi

L“:IJLJU$

60

60

63

75

)

e 2

®





